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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS Level English General Paper
(8021), and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s
curriculum and assessment objectives.

In this booklet candidate responses have been chosen from June 2019 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes and pre-release material used here are available to download from the School
Support Hub. These files are:

June 2019 Question Paper 21

June 2019 Paper 21 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support
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Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments

1 (a) Considering the advantages and at least one disadvantage, explain why Jini might choose 0 A developed advantage
the University of Zandi course. linking ‘evening webinars’ to
Jini not having to miss her

Answer in continuous prose, using your own words as far as possible. ;
work. It has been nicely

\jm‘m‘GH'Choﬂse"ﬂ“ﬂ,WVUSi"]O‘PMtfow‘}e)“S phrased as ‘the course won't
O & 5 advsisgens that st wonh haedo mus orth, Beny conflict with work hours”
#.h#...ﬂg?:.g%..e..@.m ..H.E..I?.'l.jf.(:'?.’..t.ké.EM%..H@.H.@F’{G{‘l:h?:!‘H.G!L{......;%I- e A Second, Very We”_
délmnnal[ Since. ~Jin con nod et o’\ﬂu@, HrooSing Gn onlind- developed advantage,

B . s connecting the online
do_Msure o a method OFf allemude. tensportotion b Hhe caymps,
il ) —_ . I

PETI Examiner comments are n
hore. bell alongside the answers. These
Answers are by real candidates in exam conditions. : explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
—| Discuss and analyse the answers with your learners in to interpret the standard of —
the classroom to improve their skills. Cambridge exams so you can

help your learners to refine
their exam technique.

How the candidate could have improved their answer

Scripts in this category were chosen deliberately to illustrate performance which gained full credit in each question, as
it was thought this might be useful to centres, especially following the first sitting of this new English General Paper
specification. Although those responses selected were by no means ‘model answers’, comments relating to possible
improvements are necessarily less full than those for middle and low scoring responses.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

(c) It was sometimes thought that Jini had studied marketing at university (Additional information point 5) and
that Jini ‘does not enjoy’ (like) public transport, whereas “Xeroo ... does not enjoy good public transport links’.
(Additional information point 6).

Often candidates were not awarded Lists the common mistakes candidates made

marks because they misread or in answering each question. This will help your

misinterpreted the questions. learners to avoid these mistakes and give them
the best chance of achieving the available marks.

Cambridge International AS Level — English General Paper (8021) 6



Example Candidate Responses — Paper 2

Question 1a

Example Candidate Response — high Examiner Comments

Read the material for Section A in the insert before answering the questions in Section A.

1 (a) Considering the advantages and at least one disadvantage, explain why Jini might choose 0 A de‘velop.ed adva?ntag,e o
the University of Zandi course. linking ‘evening webinars’ to Jini

. ) N . not having to miss her work. It
Answer in confinuous prose, using your own words as far as possible. . )
has been nicely phrased as ‘the

NI Might choose: fhy . Universihy of 2ends. covie, ds. . course won't conflict with work
o &Sao(vmhgeouwhwsmwoﬁmkmwmr“Bﬁ‘ft; hours’.

Hhat Here G euenity, webiiccs, Hhe. courge. Lon'} corflt 1ith Lot hae,

Addiandlly, singe. Jin @e.ﬁf?i.yfft_e@.f_n?f#i.»__,..é&@.@gﬂ%..@..gn!- © A second, very well-developed

O  closs Lom dhe vy of 2 vioutd B greyou WE. foogn bt advantage, connecting the

: ‘ online provision of the course
o faureoer a mothed 0F allerue tensporteton b the camps, with Jini not yet being able to

A'H“"'ﬁqﬁ‘%“‘ﬁ{@?é'{hﬁfmﬂ'wh!ﬁ@”‘bmﬂwﬂ drive, further explained with
versed i dode Onlyfics, oF e #h Urvesity of 2undi s her not therefore needing ‘to

he. snl o~ Huatofes srecific tnae udiom N Jala coly fres figure out a method of alternate
O dhe gty optian tharoffes specle e chon, ' ik cely b, transportation’. Again, this has

M. disedsatue to_ dioosig He. twersity s tho T ejoys been nicely phrased in the
.L:[e.f.‘!u.!f‘g........th....gﬂr.%.....%d....'J[E?.—.._Eﬂvc%?s.__u}_ll_mgsstf_;_ﬁ_f}ﬂ%f.__.’:?# _ candidate’s own words, showing

5;_‘,0[,( Addiondl, tho ot Uniesly control and understanding of the
,}')n . material and ideas.

e A third, developed advantage,
giving a link between the course
content and Jini’s ambitions.
This is very competent use of
language, with the phrasing ‘well
versed in data analytics’ and ‘the
only option that offers specific
instruction’.

o A first disadvantage is offered,
also developed, contrasting
Jini’s preference for working
with others to the independent
learning style of this course
provider.

7  Cambridge International AS Level — English General Paper (8021)



Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner Comments

W, dhe. . most- Cppeasie cocf;hm@ $2.000 dacthe.
(5] @zfl Cowse, Which vill b a iquwh e T

e A second, very well-developed
disadvantage is offered, relating

to the course cost, with specific
Getstondin h} - ’
Ee@mel jﬁm QI{%A‘{ hw% ailks o Shodsn (M“ detail of the amount as a first
6 So. S %*WHIO*#QM'W"‘{W\[’TM* [10] development, further linked to

Jini’s financial situation. This

is, again, a good use of the
candidate’s own words: ‘already
has an outstanding student loan’.

e In summary, developing two
disadvantages would have been
self-limiting, in terms of the
eventual balance of the argument,
had fewer advantages been
offered. In this case, however,
there are three developed
advantages and two developed
disadvantages, hence the balance
is maintained.

There are more clear points made
overall than the minimum of four
needed to reach the top level.
The piece is very well organised
and communicated, although

not without error (‘more well’, ‘of
which’, ‘on hand’). There is no
reliance on lifted material and no
unclear or vague references at all.
Some of the developments are
very thorough.

Overall, this response meets -
indeed, in range, exceeds - the
criteria for Level 4 and full marks.

Total mark awarded =
10 out of 10

Cambridge International AS Level — English General Paper (8021) 8



Example Candidate Responses — Paper 2

How the candidate could have improved their answer

Scripts in this category were chosen deliberately to illustrate performance which gained full credit in each question, as
it was thought this might be useful to centres, especially following the first sitting of this new English General Paper
specification. Although those responses selected were by no means ‘model answers’, comments relating to possible
improvements are necessarily less full than those for middle and low-scoring responses.

The response clearly met the criteria for Level 4 and received full marks. More than the required four developed points
(five) were offered, some of the developments were extensive and all were convincing, and the written style was

very good, making good use of organisational skills and own words. The balance of the answer was maintained in

the correct proportion, despite the inclusion of two disadvantages, because there were three advantages presented.
There were very minor phrasing errors only and these did not detract from the clarity, focus, range and understanding
demonstrated.

It was worth noting that had only two advantages been offered, the piece would have been limited to Level 3
(maximum 8 marks) and, had fewer than two advantages been present, the limit would have been Level 2 (maximum
5 marks).

9  Cambridge International AS Level — English General Paper (8021)



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

Section A @ The first two points attempted
Read the material for Section A in the insert before answering the questions in Section A. (attracting unive rsity academic

1 (a) Considering the advantages and af least one disadvantage, explain why Jini might choose cred|ts. and relating to her longer-
the University of Zandi coursa. term aim of a Master’s degree,

Answer in continuous prose, using your own words as far as possible. sponsored by Supernova, her

jﬂ: m‘ﬁ/’.tf Ckuﬁfé ‘(’Aé [/mrgfﬂ%y on Zc:ﬂri ‘ cgmpany)are lifted (cqpied)
_,l

directly from the material provided,

and, therefore, cannot receive

chl,&rhf& C!"&J/H'S &! 579575;.:! . 5647‘/:,9/1 credit. The question requires use
The to4f $ta 7{!; ,}AH ’16/‘ /0/5 ﬁf‘m h /Tf of own words, except technical -
O 10 L uniored Rk « fie sl & dine | S e
5y fidfama*’% T ol dec +, ged.. 4. Masters
© e yoe have to.ge. o ool leze A /Maw . @ ispointistoo vague
e f}x& ;\ ear’j o, lete. Huﬁ Jmﬁ)’b Jz 15, r because it implies that she has
. Cobefl not already attended a college.
mﬂ-‘ﬁ' 9.6 .5 She. s+l ould f’/"k j’hﬂ f7/‘9’%—%’ However, we are told that Jini has
(4] be,a.a\;L }'Lgf werse s vn ]1 Nt cp S h already studied for a first degree,
Cb"l:l'inue Ay work. 'Par fufffmr’q at :H\& Saml. in English.

'hméffo*A&CWrs@YﬂM[\N‘&]@COW{M @ This is the first creditworthy
point as it starts to look at a
disadvantage, namely that a
course lasting two years doesn't fit
Jini’s goal (of learning as quickly
as possible). However, the text
states that the course can take
up to two years, so the answer is
lacking some detail. Had those
extra details been included, a
development could also have
been credited.

0 The first clear advantage is
developed, and a link is made
between the course being
conducted online and Jini being
able to continue to work for
Supernova.

Cambridge International AS Level — English General Paper (8021) 10
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Example Candidate Response — middle, continued Examiner Comments

Five. modules and TJini’S et ol TS fo

‘H\@V Gl :-H" hased
O inthe ..é,:;ﬂﬂ‘ melketins Figld:

Gdyantl Tp élélﬁ] r"‘ﬁl/kﬂfmﬁ and. ﬂvfﬂ”“fj:

- [10]

6 The reference to five modules
is not clearly stated, as either an
advantage or disadvantage, but
is something of an introduction
to the course content of digital
marketing, which is a clear
advantage. A little more detail
about the range of topics might
have been included. However,
there is enough of a link made
between digital marketing being
the course focus, and Jini’s goal
relating to the same field, to
qualify as a development.

e Overall, some balance is
offered (between advantages
and disadvantages), but it is
not developed. Two clear points
(advantages) are offered and
developed, if not especially
strongly. However, some points
are unexplained or uncertain
(e.g., going to college) and some
material has been copied rather
than the candidate using their own
words early on. The responses
match the Level 3 criteria and so
a mark of 6 is awarded. Stronger
developments and at least one
more clearly developed advantage
was required to improve, as well
as more extensive use of own
words in the opening section.

Total mark awarded =
6 out of 10

How the candidate could have improved their answer

Lifted material (directly copied from the text) needed to be phrased more in the candidate’s own words and greater
clarity was needed about the point relating to Jini's Master’s degree ambitions. A vague attempt at a point was made
about needing to go to college (she had already been, to study English). Balance was offered (taking up to two years)
but this point needed developing, for example, by linking it to the fact that Jini had hoped to expand her knowledge
more quickly. The two advantages which were developed were only minimally so, especially the point about course
content/digital marketing. Overall, a wider range of developed points, more consistently phrased in the candidate’s

own words would have improved this response.

11 Cambridge International AS Level — English General Paper (8021)
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Example Candidate Response — low

the University of Zandi course.
Answer in continuous prose, using your
[ 2]

;sra%ﬂlﬁh{k.aﬁ

©
qvxevmagﬂ‘m&\
o Y\&‘ﬂdhdtgm(“«mtﬁ

dedalene Ko Mo Liafi....

Section A
Read the material for Section A in the insert before answering the questions in Section A.

1 {a) Considering the advantages and at ledst one disadvantage, explain why Jini might choose

own words as far as possible.

Jr‘vlnm%*Thﬂ!ﬁW&Jﬂf’
Lehione.... Ober . disdesnbenes.. 0 dedl..
e ovming e, vdichcolide b hekelng

e o lewtn i b
00, ... 0N

Tl e, coue.. cbio o

Examiner Comments

ﬂ The candidate identifies cost
(‘most expensive’) as a clear
disadvantage, but no further
detail is added which would have
accessed marks for development.
For example, the actual prices are
not mentioned or any link to Jini’s
financial situation, (such as the
need to pay back student loans).
Jini needs the course to represent
value for money.

e The candidate identifies
‘evening webinars’ as a second
disadvantage, although it would
have been better to say these
‘may collide with’ Jini’s obligations
to a family member on two
evenings of the week, as we
don’t know on which evenings
the webinars would fall. Given the
benefit of the doubt, the candidate
gains a development point here
for relating it to her circumstances.

e Here, the candidate identifies
a further disadvantage. The
balance is now potentially
becoming an issue, as the thrust
of the question should address
advantages. This disadvantage
relates to Jini’s preferred leaning
style (which is collaborative,
although this has not been stated)
and relates to the contrast of one-
to-one sessions with a tutor.

o This point does not answer the
question, as this is drawn from the
irrelevant material in ‘Additional
Information’, which has no bearing
on a course relating to the career
Jini is already in (see Q1d).

Cambridge International AS Level — English General Paper (8021) 12




Example Candidate Response - low, continued

s ek el o do The edveteds e

Tooonywolden Yo dere. . fom, om0 ol
e i oo ok geed e T b enfube®......

O veowe. ol A iegith o the. AiHe, S

sl o Lo ver. oot Yo lom  Fem . goedi....

Example Candidate Responses — Paper 2

Examiner Comments

e The candidate does get to the
advantages here. One clear point
is made about the range/choice
of modules available but it is not
developed by reference to an
example of the course content,
or how this links to what Jini
hoped to learn about (i.e. digital
analyticals), for example.

e Here, the candidate has
developed a point about an
advantage, if in a minimal way,
connecting the online nature
of the course to there being no
requirement to drive. This could
have been extended further. For
example, the candidate could
have mentioned the fact that
Jini is still learning to drive or
linked the point to the poor public
transportation in her region.

@ The final point is too vague to
gain credit, as neither the title nor
the goal is stated. There is also
very close lifting of material, in the
use of ‘her long-term goal’.

Q Overall, the response lacks
the required balance of the
question, having explored more
disadvantages than advantages.
Such a response is limited to a
maximum of Level 2, i.e. 5 marks
(out of 10).

Total mark awarded =
5 out of 10

13 Cambridge International AS Level — English General Paper (8021)



Example Candidate Responses — Paper 2

How the candidate could have improved their answer

More development and links between points were needed to improve this response. However, more importantly, it was
limited by focusing too much on the disadvantages, rather than advantages, the question being why Jini might choose
Provider C, i.e., why was it the most suitable option. As such, the mark was limited to L2, i.e., maximum 5 marks out of
10.

Common mistakes candidates made in this question

It was sometimes thought that Jini had studied marketing at university (Additional information point 5) and that Jini
‘does not enjoy’ (like) public transport, whereas Xeroo ... does not enjoy good public transport links’. (Additional
information point 6).

Choosing Provider A (instead of C) was surprisingly common, perhaps because it was the first question and thus,
some learners assumed that it would refer to the first provider (both were also situated in Zandi).

The point about the full course taking ‘up to two years’ was not universally acknowledged as being a disadvantage;
Jini wants to learn ‘as soon as possible’.

There was some confusion over the per module/total costs of the University of Zandi course and the free trial (one
response had the total cost at $10,000).

Very few responses suggested, given the high cost, that Jini could pick which module(s) to do first. Her being ‘on
a salary’ also seemed to cause confusion, being presented as a disadvantage, without the link to paying back her
student loan, or being assumed to be a low salary.

Cambridge International AS Level — English General Paper (8021) 14
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Question 1b

Example Candidate Response — high Examiner Comments

(b) Explain two disadvantages of the Zandi City Council Mastérctasses with Oli Pomerini.
Lne.of e, dmadvaniages. of Anis e provilec s e pseoce

Tnatesial. . manly..dedls. Lot oege. and. highoeod... coskomers,.

© vhion s anissee becawse Jini deals wilh. local cliends..
Another issue is.the.... The. diskiace. she.coold need 4o Aravel
.la..e.c.ma.e......Y:?.r.,@.()...Jﬁé.f?f?!...[J,e.@.(...{qc...[ér./.b.ff‘.e..:fmmﬂczd....’l{n_}i%....t.;:.rﬁ...a.f?.?.....

(2] ._ié__gsf.?i.__i\fi.s_-_o_n{.f.u.E?...si.l‘.i&f?.r.,.y.v..‘!:ﬁé.'?...i%..«an..;ﬁssm..fmséf:....%f.{f.*.r.'..fiz...zmm..@!xﬁ):r 4]

ﬂ A clear disadvantage is
explained, connecting the scale
of Oli Pomerini’s usual client base
with Jini’'s smaller, more local
companies.

9 A second, clearly developed
point, linking the distance to
Zandi, which is specified at 75
km, both to the public transport
difficulties and Jini just learning to
drive. More than enough is offered
to receive full credit on this point.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

The first point might have been more specific that Oli Pomerini was the one dealing with high-end clients but the idea
and contrast with Jini’s situation was sufficient to gain full credit as an explained disadvantage. The second point went
well beyond the minimum acceptable for a developed point, as the specific distance was given (distance alone would
be worth a mark) and two connections to the difficulties posed to Jini, in terms of transportation, were then offered by

way of explanation.

15 Cambridge International AS Level — English General Paper (8021)
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Example Candidate Response — middle Examiner Comments

(b) EXF’|8|FI two dlsatantages of the Zandi City Councll Masterclasses with Oli Pomerini. a The point about time

AL W v{\d\ﬁ&s&%@ ADIFR commitment is not clear or

ﬁ\eﬁ'&‘l&? R &‘HP"'L""" e .' Y - A W . COﬂVinCing enough to credit
NN &,\53 }j\ %O because the Oli Pomerini

KR course is not the longest time
95 DN i\‘g%‘ N\Q} - Q‘% &Q\ s\ commitment (Carla Patel’s is
\\ref\ \\e LO0E owm\ k:\@ s \N',.Sr T, shortest and the University course
s,":: =R v ireseresssssmsressssssssses st sssssssssnnsssssasassssssesssrsmmsnesssssensenes 4] much more extfan.sive). !_inks were

needed to the timing being on a

working day (Monday) or to the
fact that it was ‘only’ a one-day
course, which might limit coverage
of material in much depth, for
example.

e A more convincing point is
made here, regarding the lack of
flexibility of a single scheduled
date. The idea of ‘no flexibility’ is
linked to ‘the one available day’
comment sufficiently enough to
gain credit for development.

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

The point about an all-day commitment could have been improved by stating ‘working day’ (i.e. Monday), and then
linking this to the idea of how difficult it might have been for her to take a day off from work, as she was employed in
a small outfit. The reference to seven hours was not a clear disadvantage either, as this was neither the longest nor
shortest time commitment of the three courses.

The attempted earlier points about time and scheduling were then better made in what was presented as a second
disadvantage. The idea of lacking flexibility, linked to there being only one available day for the Oli Pomerini course,
was valid and thus gained credit as a developed point. Overall, then, there was really no second disadvantage
presented, such as the distance and transport issues, or the focus of the course content.

Cambridge International AS Level — English General Paper (8021) 16
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Example Candidate Response — low Examiner Comments
{b) Explain two disadvantages of the Zandi City Council Masterclasses with Oli Pomerini. a The point about ‘location’ is
EﬂmMMU%nMw%m@émm\‘uwﬂ@a the minimum response to gain

Bk Hhe. soduesipes . 0% Zvady k) Gowndy | credit The question asks for two

0 Wﬁ‘c&.rﬁ\m1 mw\é\f\wﬁs%\oe;mttmﬁm disadvantages to be explained

A _{j : and ideally a more specific
h’ﬁé&ﬁ%g h&mhéj"\\ﬁlbmcmp%\\&\ response would be given, such as
%O\Cﬁﬁx{:ﬁﬁ&h the exact distance between Zandi
9 and Xeroo.

- M

e The second attempted point,
‘low capacity accepents’ (sic), is
too vague and this class does
not, in any case, have the lowest
capacity.

Total mark awarded =
1 out of 4

How the candidate could have improved their answer

‘Location’ needed more detail and it was not completely clear, standing alone, why it was a disadvantage. However,
with a little benefit of doubt, the point received credit as the minimum permissible for a disadvantage, as it was an
obvious disadvantage in this case. For the explanation, there might have been mention of a link to Jini’s likely travel
difficulties, such as only just learning to drive, or the minimal public transport in her rural area.

The attempted point about capacity/number of participants was too vague here, as it had not been made clear why
it was a disadvantage. Furthermore, the course referred to here, Oli Pomerini’'s (Provider A), had a capacity of 25
and therefore was not the smallest. The Carla Patel course had only ten participants, so any point made about low
capacity, such as the likelihood of not gaining a place, fewest people with whom to exchange ideas, etc., would only
really be acceptable in that case.

Common mistakes candidates made in this question

There were some assumptions made, for example, that Oli Pomerini would not turn up/might disappear mid-session,
because he was too busy or important.

The number of participants, duration of the course and cost were often cited as disadvantages but Provider A was the
middle one of the three in all cases. Cost needed reference to value, i.e., only one day for $300 and then linking with
her financial issues regarding her student debt and needing to seek good value for her money.

17  Cambridge International AS Level — English General Paper (8021)
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Question 1c

Example Candidate Response — high Examiner Comments

{c) Explain two disadvantages of the Carla Patel course. ° A clear connection explains

e 008 disoduandoge et foat. Ane . Couret 4easepie i5 01 that the course schedule, being

on a Wednesday evening, is a

o 0. Wednesday evening,.ond that. is.a. prabiem. beeauss faey: disadvantage because of Jini's
she.belps.her. mothec. care fov. o disabled. relative. that. ... commitment to helping her mother
Anothor. disadvaage. is. tnok. . ontent £ 0ot (eleuggy, | T carng fora disabled relative

© fo..what. she wonds. §0s darsn’t wont 40 Aeom. w19 grob.a |
}uur.nu\im.Ett‘.f.mﬂﬁnlAihf...wsmts..iu..wistm_.hcr.mwlﬂlg,t..oi.diqiml..:.... i | @ Asecond clear disadvantage

‘muﬂ(ﬂ’*im- relates to course content, and
this is explained with the specific
contrast between the course
purpose, attracting journalists’
attention, and Jini’s goal to
improve her knowledge of digital
marketing.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

Two disadvantages were offered and clearly explained; nothing more was needed to gain full marks.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

(¢) Explain two disadvantages of the Carla Patel course. a The Carla Patel course
TL\(; v dns hﬁ,\m of. Q,&W\V\ Pw\'e\ ergﬁ, does have the shortest time
b& e ‘.ﬁ commitment of the three providers
0 \INZW lcé_,, o 2 ¥_ 3( \mﬂ....@!&!ﬂh """""""""" (two, two-and-a-half hour sessions
:5 ....... l\ OQ ....... lé...mpraéfdm &‘mc( OM(SL') T})ﬁ only) so this point can be credited.

However, the candidate does not
e gﬁ%li} """ liso ;\wétug& (1180\ \N\v\)@\f}& """ J[\r\t\\ """"" go on to explain why this might be
0 ) . ) - )

a disadvantage for Jini, to gain the
@ development point.

e Again, this course does indeed
have the smallest capacity (only
10 participants) of the three
proposals, hence the point
gains credit. However, there is
no explanation as to why this is
disadvantageous and no attempt
made to develop the idea further.

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

Two disadvantages were presented but neither was developed. To improve this response, the timing idea needed

a link to having been the shortest course (two sessions, totalling only five hours) and, therefore, least likely to have
taught Jini a great deal, or a link might have been made to it having been on a Wednesday evening and, therefore,
would have been inconvenient due to existing commitments (caring for a disabled relative with her mother), or perhaps
having been too exhausted after work to have done a mid-week evening class.

The second point could have been linked to how difficult it might have been to gain a place on the course, given its
limited capacity or, since Jini liked to learn collaboratively, so few participants might have limited the possibilities for
meaningful exchange of ideas and discussion.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner Comments
(¢) Explain two disadvantages of the Carla Patel course. a The point made about
Oﬂﬂ Sissduntise of fhe. . Cﬁ//ﬁ ﬁﬁf‘@” bowrse€ unsuitable course content is
0 s —He oS Tsp ,L 5/""5"/”6”‘ /))f héOby«dgjffg/ worthy of credit but it is not
Ae’ J vt g’ S explained or developed. For
Wﬂi@ff’iﬂj :z4’z"«9ip r.t13a nese ! “{’A{, example, the candidate could
Coulse Jnfres Place in. f‘?(f’/ aﬁﬁ; caj 070 have contrasted it with the actual

course content, or stated why
digital marketing is desired.

2 /‘.r&ffo'hm%mxﬁa&ozfaﬂfm&

[4]

e The location of the course is
only relevant if linked to the issue
of late/evening attendance, as Jini
works and lives in the same town,
so it is presumed she could get
there easily enough. Furthermore,
the contrast with online provision
is not answering the question, as
it implies an advantage of another
provider (c), already featured in
Q1a.

Total mark awarded =
1 out of 4

How the candidate could have improved their answer

The point about course content needed developing to gain a second mark, for example, having linked it to Jini’s goals
and intentions, or having stated, by contrast, what the content of the Carla Patel course did involve (mainly linked to
journalism, her field).

Any reference to location and transport difficulties in general was not correct, as Jini already lived and worked in the
same town (Xeroo). Had reference been made to the course times having been at night, then a link to the poor public
transport might well have been relevant. However, there were more obvious points to pick up on as disadvantages for
this course, most notably, the Wednesday evening timings having been unsuitable due to Jini’s regular commitment to
helping her mother with a disabled relative on Wednesday and Friday evenings, or the informal style not having been
in accord with her longer-term academic ambitions.

Common mistakes candidates made in this question

Transport was often cited as a disadvantage but could not gain credit because Jini already lived and worked in the
same town and thus, it had to be assumed that transport would not be an issue, unless reference was made to the
relatively late hours (evening).

There was some misunderstanding about who was disabled, for example, Jini’'s mother (instead of helping her mother
with the relative concerned), or ‘the disabled’ generally, where benefit of the doubt was given if the remaining details
were correct.

Cambridge International AS Level — English General Paper (8021) 20



Example Candidate Responses — Paper 2

Question 1d

Example Candidate Response — high Examiner Comments

{d) Which one pi;ce of the additional information provided might Jini have regarded as the least
relevant in deciding which course to take?

Justify your choice.
.. Jini’s.parents. prefering. her 40 follow Soem inte dhs faroily....

© 1w firv.is Ane. keask. relevont. becouss. the aiveady. works-fee asq
Rigial. harkeking Excrubive. for Supernava. She Just waoks wer knswiedge,

ﬂ The correct choice of the least
relevant information is made, i.e.,
her family’s wish for her to follow
them into the family law firm.

The justification is also credited
because it explains clearly that
she is already involved in an
alternative career, by naming
Jini’s current post. A further idea is
added, that she simply wishes for
more (related) knowledge. The full
credit has already been awarded
by this point.

Total mark awarded =
2 out of 2

How the candidate could have improved their answer

The correct choice was linked to Jini’s existing career choice by naming her current position. The final addition, about
wanting to improve her knowledge, did not gain additional credit, as the full two marks had already been earned. This
could have been a reason in itself, however, if linked clearly to her existing career, i.e., being one that was different to

her parents’ wishes.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

(d) Which one piecs of the additional information provided might Jini have regarded as the least a The correct choice of ‘least
relevant in deciding which course to take? . . relevant information is made for
Justify your choice. _ , . . . a single mark but no explanation/

justification is made for the choice,

hence no second mark.

0 e X0 Shadwy lmmtk\e«w Aianked o morResaau . .
S e The statement, as written here,

et ettt sns s Er s (2] relates to studying law, rather than
specifically joining the family law
firm. However, Jini would have

to have studied law in order to do
so. This links to the third piece of
additional information concerning
the parental preference for law,
rather than digital marketing.

Total mark awarded =
1 out of 2

How the candidate could have improved their answer

The correct choice of least relevant additional information was made (although not precisely the same as the wording
in the material; see annotated script) but no explanation was offered for the second mark. It would be logical to
suggest, for example, that because Jini was already established in a career she enjoyed and/or was only seeking
courses linked to that field (digital marketing), her parents’ career aspirations for her were no longer relevant.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner Comments

(d) Which one piece of the additional information provided might Jini have regarded as the least a The candidate has chosen
relevant in deciding which course to take? . .
incorrectly and has not provided

Justify your choice. a convincing explanation for the
NG \RUE XRWVAE. L OF DA NIE7. . M0k Skt | Ohoice. The Zandi University

0 f0on s " i " o course (Provider C) would
() \{\Q(WQQ,\LE‘QJD_QL\\QQ{rhﬁfjggm]fﬂhlrlle"%? require extensive independent

Decovie Dove 08 Kt (Dorky Qre OVEHne \wegv e, .z | study, likely to occur mainly at
weekends, as Jini is working all
week.

Total mark awarded =
0 out of 2

How the candidate could have improved their answer

The more obvious irrelevant piece of information needed to be selected. However, some credit might have been
gained for a better explanation of this incorrect choice (maximum of one mark), for example, that Jini could have
arranged for someone else to ride the horse for her while she was busy studying, or similar.

Common mistakes candidates made in this question

Horse riding, not yet being a qualified driver, and Carla coming to her school were common distractors here, especially
the former.

Some responses did not answer the question at all, referring to courses or criteria such as capacity, timings, tutors, or
costs, i.e., not using the additional information, as had been directed.

Explanations/justifications sometimes simply repeated the question, i.e., stating that the chosen information was not
relevant to Jini’s decision as to which course to take, and similar.
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Example Candidate Responses — Paper 2

Question 1e

Example Candidate Response — high Examiner Comments

(e) The term ‘social media influencers’ describes key individuals in, for example, entertainment a Two clear and distinct points

or fashion, whose online blogs or photographs have become increasingly important for marketing .
departments. are made and are creditworthy.

The first is that ‘'so many people
- look up to them’, which gives an
(1] .mciﬁ..léey..mdiuzdmﬁ...&m...SD..m.@!&mk@l...hmﬁa..m..mmy......___ idea of the scale of their reach

pe@mmw*@a«mmﬂommmmd@@ (and hints at how they influence).
ok cayfuac Yooy cecommen]...inStonlly... becomves. &V iead....... 12 A very secure second point

is then offered, i.e., their
recommendations instantly

becoming trends.

In your opinion, state why these key individuals are so influential.

Total mark awarded =
2 out of 2

How the candidate could have improved their answer

The first point clearly outlined the notion of scale and reach, and hinted at a second idea, that of looking up to

such figures. Had there been no further point, it might have been considered for a separate idea, although it was
rather conflated with the first (‘'so many people’). Here, it was presented as a global idea, in any case. The second
creditworthy point was certainly distinct, and linked the idea of influencers’ recommendations with creating trends. This
developed the idea hinted at in the first point, i.e., that followers copy influencers.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

(e) TI'-'h“é‘ieﬁ“so’&?ﬁe{i}mﬁﬁeﬁe@ describes Réy'i_?ndividt{als in, for example, entertainment a Credit is awarded for the idea
or fashion, whose online blogs or photographs have bacome increasingly imporiant for marketing .
departments. ) ' of influencers as role models but

the attempted development or

In your opinion, state why these key individuals are so influential. second point is really still part

’“\L&L'Sl)(.m\Yﬂw}()«\EBQ‘UQ“GMQ‘&Y{SB\‘(\FN&K\*‘Q\ of the same idea; ‘a sence (sic)
© econs. NG M. 2. Yile readel. OC.Sence. A€ . of hope of what they want to be
) like’ is the same as being a role

an example, was required for the
second mark.

Total mark awarded =
1 out of 2

How the candidate could have improved their answer

The repetition of the idea of being a role model, i.e., an aspirational figure, precluded the second mark here. A
separate point was needed, for example, an idea of influencers’ prevalence and reach, or a named example of an
influencer by way of development of that point.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner Comments

(e) The term ‘social media influencers’ describes key individuals in, for example, entertainment
or fashion, whose online blogs or photographs have become increasingly important for marketing
depariments.

In your opinion, state why these key individuals are so influential.

TSN uoIL. DOV YOG U0 STx......
© Moyenng oeDOLMEND. b b0se. fapxt,. | @ The pointis not clear enough

to gain credit, as it does not

\Y\WYYY\QTWDY\O\DG\Q&Q&QWQE (21 | explain why these individuals are

influential and instead is more
descriptive.

Total mark awarded =
0 out of 2

How the candidate could have improved their answer

A clearer explanation was needed as to why such individuals were influential, for example, the scale of their reach, the
prevalence of social media, especially among young consumers, the fact that so many regarded these influencers as
role models, wished to emulate them and, therefore, would buy whatever they appeared to be endorsing.

Common mistakes candidates made in this question

Some responses simply explained what influencers were or recycled the idea of influence, sometimes using the exact
same term, i.e. ‘because they influence our decisions/are influential’.

Repetition of one idea was quite common, for example, being role models/we look up to them/we aspire to be like
them/we copy what they do or wear.

Some responses were vague and general about the role of marketing, advertising or social media.
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Example Candidate Responses — Paper 2

Question 1f

Example Candidate Response — high Examiner Comments

() The term ‘early adopter’ refers to a person who starts using technology or products as soon
as they become available.

Give three reasons which you think might motivate someone to be an early adopter.

O Loty to o brond lilie Ayfle wses oy case ot boanecty
@4‘.’.1‘.’%%..9.?..m..jfse%lq..mﬁﬁg.m.me'.%,.ﬂ%.’.@lff%c.gﬁﬁfﬁ?!.ftes!@f.f.r...
© 11y ol Gonlrioure, 05, oople wisnt e siates OF hawy g peduct Ve Hrfals
boboe 15 horres Mt i iovakons O el moycnmone. o lyodopten,

(3 ) %8 feofle viont e doy He Julekond Geeokstin ol e5fedally SE-has G Uiigte dintug 13

ﬂ Brand loyalty, with an example,
linked to enjoyment of the brand’s
product, is a clear motivation for
an early adopter.

e The second creditworthy point
relates to the ‘cool’ factor and
status of having a product before
it becomes irrelevant (obsolete),
with a further example offered.

e Innovation and the desire to
have the newest technological
items, especially with unique
functionality/features, is a third,
distinct reason motivating early
adopters.

Total mark awarded =
3 outof3

How the candidate could have improved their answer

Three good points were made here, which were explained and developed with examples. This development was not
necessary to gain the full three marks but reinforced the fact that each point was sufficiently different to gain credit.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

{f} The term 'early adopter’ refers to a person who starts using technology or products as soon a A clear first point about being

as they become available. .
y first to access and learn about

Give three reasons which you think might motivate someone to be an early adopter. new products ‘before anyone
Qnmﬁmié\mm@an»meakcéiomamﬁwhﬁadoplw else’.
3
0 bm&;Z&f«M%LEm%fﬁamsmmélﬁw%’m 9 A clear second point about
.I).E»m..;p(l‘z&d&i:s..b&?rmm...%&m&...ﬁL&E‘.,..:&:. v G Feoaa... informing others about the
(2] .Q\fmms..:abm}.ym.,qualrbﬁak..,ﬂo&..md.u&,,..m;}“%.,uan_ product’s quality, butthe
attempted third point is repetition,

ﬂﬂ%%ﬂnuﬂhﬁ%ﬁ@mtﬁ%.@bﬂz*hﬂbﬁmﬂvﬁ ......... 3] since the notion of sharing ‘their

thoughts and opinions about the
product’ is the same idea, hence
no third point here. Globally,
these two make one creditworthy
point, although the mark would
be the same had either of these
statements not been offered,

as either part, offered alone,
would have been sufficient to
receive credit for the idea of
communicating/reviewing product
quality.

Total mark awarded =
2 outof 3

How the candidate could have improved their answer

There was repetition of the idea of communicating about the new product to potential users, in points two and three,
so the third mark could not be awarded (see annotated script). A new point about the benefits of accessing the
technology first was needed, for example, looking ‘cool’ to other people, increased familiarity with new features or
functionalities, wishing to show off (financial) status or being a follower of a particular/favourite brand.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner Comments

() The term ‘early adopter’ refers to a person who starts using technology- or products as soon
as they become available.

Give three reasons which you think might motivate someone to be an early adopter.

Tir w‘n\ W@ AN @, Knowledae, uhen
%J( O, T L, hﬂp Hoem. In.
o g Y\UQ ond 4. L)QIH MOKe - hcm O{ @ These are all assertions

and simply general benefits of
S)(M \Wh&( e e technology. None of these points

apply specifically enough to the
benefits of using technology when
it is first available.

[3]

Total mark awarded =
0 out of 3

How the candidate could have improved their answer

All the attempted points could have applied to users of technology at any stage of its availability and needed to be
more specific about the advantages of using technology when it was brand new, i.e., ahead of everyone else.

Common mistakes candidates made in this question

Some points made were too vague or general about the uses and benefits of technology, or could have applied at any
stage of a product’s lifespan.

A common mistake was to make points about following a trend/being with everyone else, rather than being at the start
of a trend and ahead of (most) others.

There were occasional misunderstandings, despite the help in the question stem, which related to adoption of
children, or the use of technology by children, at their parents’ insistence.
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Example Candidate Responses — Paper 2

Question 2a

Example Candidate Response — high Examiner Comments

Section B

Read the material for Section B in the insert before answering the questions in Section B.

2 (a) According to Gracia, state what motivates him to spend ‘most weekends exploring.and mapping
the island's complex system of underwater caves'.

0 e Sesonding. 0 Grcics, Mallesca. . 35, much. mere.. beankiful.... a The correct answer is given
' ' ' ' clearly and includes, crucially,

the comparative statement ‘much
more beautiful’.

sndergrowad... o mmonveg'vumd,' (1]

Total mark awarded =
1 out of 1

How the candidate could have improved their answer

No improvement was required; the single available mark was gained.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner Comments

Section B
Read the material for Section. B in the insert before answering the questions in Section' B,

2 (a) Accordingto Gracia, state what motivates him to spend ‘rost weekénds exploring and mapping
the island's complex system of underwater caves'.

© Gpicia Is motivcted by The besely of Mallorcn | @ Thepaitneeded o comparison

T to gain credit, i.e., ‘more beautiful’,
:3’}\47"?0”55551’1#\//%"55 [ | rather than simply ‘the beauty.

Total mark awarded =
0 out of 1

How the candidate could have improved their answer

The response needed to include the comparison ‘(much) more beautiful’ (or an appropriate synonym) to convey the
accuracy of the original material; ‘the beauty’ alone was not precise enough.
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Example Candidate Response — low Examiner Comments

Section B:
‘Read the material for Section B in the insert before answering the questions in Section B.

2 (a) According to Gracia, staté what motivates him to spend ‘most weekends exploring and mapping
the island’s complex systém of underwater caves’.

0 Be oo ko Wt bye Tslond  of | Menotla..... 0 This point is too generalised
' and also restates the question.

- M

Total mark awarded =
0 out of 1

How the candidate could have improved their answer

The response largely restated the question, regarding the mapping. Reference should have been made to the
comparative beauty of Mallorca’s underwater landscape.

Common mistakes candidates made in this question

Lack of comparison (‘(much) more beautiful’ below than above ground) was the most common reason for not
achieving the single available mark (i.e., simply ‘beautiful’). Some responses were vague and general, such as about
being a geology teacher, liking to collect rocks, etc.
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Example Candidate Responses — Paper 2

Question 2bi

Example Candidate Response — high Examiner Comments

(b) lﬁ,your own words, -

(i), .describe fi\mI -things that went wrong as Gracia and Mascaré-headed for hofme.

O . i and s allidkd. aith.. achdher oohich cased.
&Itk Aqg dp Heir oishns The pulgn_ oulre aohich they used o
lead Hu; wani ol na}— f%und ﬁwj wasff{/ a /Zdl huzlr aﬂ ém; 3?

f(ra!‘tm? fir the b am‘a /ﬁ( air_ s usc’d (if a.ﬂncb i md’
ﬁ}r tham h feac}l abave gmnc/ wilS Em:?mcj anr wid almisk
awdqp Ty were. logh it no-ai anc/ 4.quEh. foath bak g

9‘1{%’1{ 5]

ﬂ Five clear points are made, all
of which use sufficient ‘own words’
to convey the intended points
without reliance on copying from
the material.

The points made and credited are
as follows:

collided with each other (met by
chance); caused silt to fog up their
vision (made it difficult to see);
nylon wire ... was not found (the
guideline had been lost — broken
or slipped); wasted a full hour

.. looking for the wire (spent a
precious hour trying to find it), and
the air was used up which was
needed for them to reach above
ground (they had consumed the
air they had brought to get them in
and out).

Total mark awarded =
5 out of 5

How the candidate could have improved their answer

No improvement was required, as five points were clearly made, using own words that conveyed the sense of the
material. Five points were sought and thus the first five attempts considered; in this case, there were no ‘wasted’

attempts precluding consideration of later, perhaps correct attempts.
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Example Candidate Response — middle Examiner Comments

(b) In your own words,

(i) describe five things that went wrong as Gracia and Mascard headed for home.

e TRg five, Ahings  thot. went. wmng.. fer.. Grécio. and.

e- f):t.?.m.....@‘.'?.t?....gﬂ?!-'.l.t.'.\d.:i,...!:hei!:....gui.dﬁ.l.‘ng....‘gmhg..,;,..E‘l‘heug.-;.-:eé.%\.’.ﬂ .......
e ot Lonning. enb oo de. aseakin S ondencg

;}.Qc(.hfﬁ...A,\,',\,q..“lnn%er.....!ep..\rhed.....%d...mﬁsﬁ...}m...qn...hma ......
se5- They..ol50.. Condeld £ind. Mg line.... [5]

Q The first point ‘when they met’
is not precise enough, as it does
not convey the element of ‘by
chance’ from the material.

9 Too much reliance on lifted
material (directly copied text)
in the use of ‘they stirred up silt
from the ground’. The effect of
this is not explained. The words
‘from the ground’ were not
needed to convey the sense but
an alternative for ‘stirred up’ was
required.

e Credit given for ‘their guideline
broke’ because the tense has
been changed (from ‘had broken’).

o Credit for ‘they were both
running out of air to breathe’
as this accurately conveys the
situation regarding the total air
supply, they had brought with
them, in the candidate’s own
words.

e Mascaro going for help
is not a direct answer to this
question. This is the fifth point
attempted and only the first five
are considered, as only five were
asked for in the question.

Total mark awarded =
2 out of 5

How the candidate could have improved their answer

The first attempted point needed the element of ‘by chance’ to have gained credit. The second point needed the
candidate’s own words for ‘stirred up’, such as ‘disturbed’ or ‘moved (silt) around’. The fifth point should not have been
presented, as it was not something that went wrong. Five things were asked for, so only the first five attempts were
considered in 2bi. In this instance, had the final point made been among the first five attempts, i.e., ‘they also couldn’t

find the line’, that would also have gained credit.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner Comments

(b) In your own words, ﬂ Of the five points attempted,

(i) describe five things that went wrong as Gracia and Mascar6 headed for home. four rely too heavily on lifted

. , , o ) material (copying). These are
o F'*'Sh(fgmch.mc‘Mus;oms*-t‘fer]up5=”9mm ‘stirred up silt from the ground’;
}.!fiee.......gmnd,_m:;qu;p@....(.f.....lmm!....ie....é@?njlnm..ﬂi@c....guﬁcﬂf’r& ‘making it... to see’ (only one word

O  Her buken.ar shpped shish mede. e, divecs. Jost. Grbiire changed); their guidiine ‘sither

) broken or slipped’, and ‘Gracia
‘.‘!’!ﬁ‘.‘.’....ﬂ()nsmm ...... hv@l\ﬁf\#ﬂ;ﬁxgmhﬂﬁkﬁﬁwhﬁﬂ%% met Mascaro by chance at a

stired. up. stk They.... oo comueted....all the...cic...dhey. brogght, | junction’.

5 e The explanation or

consequence ‘which made the
divers lost’ is not an answer to
something which went wrong.

e The ‘air’ points are not
considered as they come after the
first five attempts. Neither would
have been precise enough to gain
credit, in any case.

Total mark awarded =
0 out of 5

How the candidate could have improved their answer

Only the first five attempts were considered, as the question asked for five things which had gone wrong. This meant
that the ‘air’ points, which came after the first five attempts, could not be considered. In this case, neither attempt was
precise enough to gain credit anyway, as it needed to be made clear that ‘all’ the intended/main air was used but only
‘most’ of the emergency air.

This response relied too heavily on lifted material (directly copied from the text) and the candidate needed to phrase
the points more in their own words, for example, ‘disturbed the dirt/silt’ (stirred up silt); ‘which made vision tricky’
(making it ... to see); ‘had snapped or moved/been misplaced’ (either broken or slipped), and ‘bumped into each other’
or ‘came across each other (accidentally) (met by chance). The point about the divers being lost was not a specific
thing which went wrong, according to the material, but was speculation on the consequences of what had gone wrong
(with the guideline), therefore, did not receive any credit. This point should have been omitted.

Common mistakes candidates made in this question

A number of responses relied too heavily, despite the instruction to use own words, on copying directly from the
material. There were also misunderstandings about the air situation, i.e., whether the main air supply had been used
up and/or most of the back-up or emergency air, i.e., not all the air, or most of the main supply. The fallen rocks which
had been presumed to have damaged the guideline were also sometimes thought to be blocking the two divers’ way,
while the two meeting ‘by chance’ was rarely accurately conveyed.

Only the first five attempts at a point were considered and many answers wrote at too great a length, sometimes
straying into material relating to later questions. This was common throughout questions 2bi to 2cii inclusive.
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Example Candidate Responses — Paper 2

Question 2bii

Example Candidate Response — high Examiner Comments

(ii) explain whattheir options were and-why they were dangerous.

ﬂ Both divers staying is not an
The. 6pong. ey hag. presenied: e CW‘@(ZXDU«S ’H\E\l option mentioned in the material,

o bbjfh IMUU}d MUQ [tmmﬂﬁd fnirl'\’\‘ﬂ ml}ﬁ,“rhﬁv LUOU.IQl i S(t)tthistis not a creditworthy
e ted. fiom. lack of Gen or. (07 intaMe. i€ .. e
Moscard et 40. 40 Brdbin: waud..hﬁ___@{uaz__ﬂnﬂ_mamm @ Mascaro would risk getting
© . sislk. NG dogk, SI0L. here Wwas 001y mﬂughe lost' gains credt
WVQW 10£L: £0r. a0€. o F0EMY %C&V{) ARRE .. e e The use of ‘only enough ...

(4] MTL\!\ of IMJ i he.. [ﬁQUl\’lﬂ oS, Ol\(%{M ;51 | for one of them to’ is slightly too
due o h!ﬁ ~|~hli’1 fmm€;whllf WCF& reryavred | reliant on lifting from the material

Sine he (’,OLUd hardie incréased to gain credit.
(g eexder Loth options had ppfnicd
ASKS- @ Mascaro went in search of

help ... while Gracia remained’ is
creditworthy, as would either part
of that have been, if alone.

e Credit for ‘since he required
less oxygen’ (needed less air)
and then also for ‘due to this thin
frame’ (he was skinnier).

Q Gracia ‘could handle increased
CO, better’ is creditworthy for
his being more experienced at
breathing cave air, even if the
idea is conflated with the separate
notion of there being more CO, in
cave air, and so gains credit.

Total mark awarded =
5 out of 5

How the candidate could have improved their answer

The initial point was not relevant, as it covered an option not mentioned in the material. The use of ‘only enough...
for one of them to’ cannot gain credit as it was too close to the original text. However, in this question, any number
of attempts at the question could be considered and so it was still possible, even without full focus and accuracy
throughout the response, to gain the full five marks here.
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Example Candidate Response — middle Examiner Comments

(if) explain what their options were and why-they-were dangerous. a Finding the air pocket was just
O ciao.ona. Maseard Bund.on..oicpecket. something the divers did and was
. ) t an ‘option’, so gains no credit.
: i e 0.@ | ™
Ihgpﬁ.gnl%....hqd..e,mo.t.eth...rzs.\_y:.Eo.v...Q.ne,..p_(:_._m.....jp.. (This point comes up in 26i.
wnoke it ouk. Mascavd mould. Qo ecaue. k.. ivad

LAS&—MQWS[QMVW@JVELC'&%MWEQCCC@W e Instead of u§ing their own.
‘ ' ) ' words the candidate has copied

:t@....Qc@m..m:.j}\._\f;__mces....Qo,r?%amu,&...bmaum..}ﬂ%.cwé (4] the text entirely ‘they only had

(6) couldh..qet. Josk... beawingy e ket doomeol, D) enough air for one of them to
e make it out’.

Q A credit is gained for ‘Mascaro
would go’. The candidate does
not also need to say that Gracia
would stay behind to gain credit.

o A credit is gained for ‘he
would use the air slower’ (more
slowly) as this is a good use of
the candidate’s own words for
‘needed less air for breathing’.

e Credit is gained for ‘Gracia was
more accustomed to cave air’.
This renders the idea of ‘more
experienced at breathing ...” well
in own words and ‘cave air’ did not
need to be changed, as this would
be very difficult.

e The phrase ‘could get lost’ is
lifted from the material, with only
the word ‘potentially’ dropped. Own
words were needed to gain credit
here.

0 The final point, ‘leaving
them both doomed’ is
simply speculation about the
consequences and is neither
an option nor a danger from the
material.

Total mark awarded =
3 outof 5
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How the candidate could have improved their answer

In this question, no specific number of points was required, so all attempts were considered. The first point was not
needed, as it was not one of the options but simply something they did. The candidate’s own words were needed for
the point about air, for example ‘there was insufficient air for two/both of them (to leave the caves)’. Similarly, ‘could
get lost’ needed to be explained in the candidate’s own words, such as ‘might have lost/been unable to find his way
out’. The final point was not needed, as it did not convey either an option or a danger from the material. Two further
content points were required to gain full credit; had the two lifted material points been conveyed in their own words,
this would have been sufficient to score the full five marks available.
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Example Candidate Response — low Examiner Comments
(ii) explain what their options were and why they were dangerous. ‘ ' a ‘Gracia would stay’ was
[ 1) ......___.'Ihﬂ.r.__up.tmn.._wus,im.&_.‘.ﬁrﬁ.s;f\.q...wqu.\d..s.im;,............... Suflﬁciean f:o ?fllin crleéditt(alf;wquh
: a close lirt or 1 woula stay'), |
And thort. Guilien. would. qo. for. bilp. Tk wag...... = has shown understanding as
__dcmgtmus beeause.. (uillem. would. navt. to. find. his.. to who was remaining behind.
O oy 0w without o quideling, and. that. fhers wa..... Fl;)“*:ffmorz’ . 'i“ists4;di]t giﬁ
a betier rendering o e other ha
-0.chanee. that. e Sowdd. otentially. gtf los. Graciq. of this idea, auilom would have f
oould havs s died without foad. orGic... find his way out, i.e., he is the one

to leave. The first attempt at that
part of the point, ‘Guillem would go
for help’ is copied directly from the
material.

A

e The points ‘without a guideline’
and ‘could potentially get lost’
are both copied directly from the
material and thus do not gain credit.

e The final point is speculation
about a consequence or danger,
rather than being drawn directly
from the information stated in the
material, and so does not gain
credit.

Total mark awarded =
1outof 5

How the candidate could have improved their answer

There was reliance on lifted material, which needed to be conveyed in the candidate’s own words, for example,
‘Mascaroé would be the one to leave (Gracia behind) (Guillem would go for help), ‘with no rope/wire to help him find
the way’ (without a guideline), and ‘risked not being able to find the way out’ (could potentially get lost). The final point
was unnecessary, as it did not convey any part of the material relating to options or dangers.

Common mistakes candidates made in this question

A number of responses relied too heavily, despite the instruction to use own words, on copying directly from the
material. There was also quite a lot of general speculation about potential dangers for the divers, some of which were
clearly fanciful, such as encountering predators. Some responses also outlined options which were not stated in the
text, e.g., both divers attempting to leave the cave, or both of them staying where they were.

Several were able to reverse the roles of who stayed and who left, however, in order to use their own words for the
points about who was slimmer and thus needed less air, which was quite sensible. There was misunderstanding by
some, however, as to why being thinner was the reason for Mascaré’s being chosen to leave; it was because he would
consume less of the limited air in the tank and not because he would fit through smaller gaps.

There was also misunderstanding and lack of precision in conveying the situation with the air (only enough for one to
make the return journey, i.e., in the tanks, not the cave air, which was a different issue entirely, linked to high carbon
dioxide content.
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Question 2ci

Example Candidate Response — high Examiner Comments

(¢) Once-aloné in the chamber, S @ The required number of points

{i) identify what Gracia did to ensuré he would.survive for as long as possible. (ﬁve) is made here within the word
count (50, but 10% grace given so

up to 55 considered).

Answer in about 50.words.

0 GG, reolSEA. e wer surface. | oF e WORexr.....

’ The valid points are: ‘realised
Wos.. drnkablie, He. 650, only.. fined.. oh. . low. ... the surface of the water was
or gcr Frosh water

Joorens, forch. wheh ne. had o pee fand | consered drinkable’; ‘only turned on his ...
' when he had to pee or get fresh

he. . AL

Jne borteiy. B To..add... 0N, Gra cid. S0eN..on. .. o ol water’, i.e., in emergencies, a
e vestvoaer. L N SEdT Aceod. warer. L oind section which also includes the
O8O0 O DS Y i separate point ‘low battery torch';

then ‘conserved the battery’ as a
- BI | further point; finally, ‘sat on a rock
to rest’ is a further point worthy of
credit.

Total mark awarded =
5 out of 5

How the candidate could have improved their answer

Five points were clearly made, in fewer than the maximum number of words to be considered (55), so there was
nothing to improve here. The final point was explained for its importance; no explanation was required, so this was an
example of the reason some responses ‘ran out’ of words when attempting to convey their points (too) fully.
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Example Candidate Response — middle Examiner Comments

(¢) Once alone in the chamber,

(i) identify what Gracia did to ensure he would survive for as long as possible.

Answer in about 50 words.

Cla\ie/aVa ca's Sakinsty ﬁemm
m@..um._,m&..m.tmmf\m.;ﬁa:..ta:cc\qu\fzeﬂ
L 200 MOKRL A Boe. SUKCCE. CRA0E. \OXe LCE
dmm\a.\ﬁ.,..lﬂ(c.ﬂx\so,G&\medm..\m%ﬁ.ﬁm‘sm%
‘M\EG THOOSRM. Ok Gl ER ANake 5 f{-;s% e

\\ _______ .. X\, 0\:\\ M‘(\ﬁd \_kronh:» Qﬂ\m*é‘ 0(‘
O Oow\(\ POC (Yesh Uaak

ﬂ No credit for ‘sending Mascaro
for help’, as this was part of 2bii
and is not relevant to the question
of Gracia’s survival.

e Credit for Gracia realising
that the lake’s surface water
was drinkable. This is a very
clear point and as there was no
requirement here to use own
words, the close use of the
material helps to ensure sufficient
clarity and detail are conveyed.

e Similarly, the point about
Gracia pulling himself up from
the water onto a rock to rest fully
conveys the sense and detail
required.

o Credit for deciding to manage
without light.

e The final point cannot gain
credit because the maximum
words considered (55, i.e., 10%
above the 50 stipulated) end
between ‘to’ and ‘urinate’ and
by this point, not enough of the
information has been conveyed
to gain credit. Had the 55 words
finished after ‘urinate’, credit
would have been gained.

Total mark awarded =
3 out of 5

How the candidate could have improved their answer

Own words were not required in 2c and the emphasis, with the word count having been imposed, was on conveying
the sense of the material concisely. Here, an irrelevant first attempt (Mascard going for help, which was an answer to
2bii rather than something Gracia did to ensure his own survival) meant that the available words (55, i.e., 50 + 10%)
‘ran out’ before credit could be awarded for the final (correct) point attempted.
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Example Candidate Response — low

(c) Once-alcprie inthe chamber,‘
(i) identify what Gracia 'di& to ensure he would survive for as long.as possible.
Answer in about 50-words.
S Gt ol vsed o dght Wit
° mLIgBJ"cf‘“—‘AW‘}ef et
LCbde e forced. ositbegd
M Ae el ot
O o %QBv#MJﬂefa/fﬁ,ﬁnﬂwy
Mesader on theo SCFCLE i

Examiner Comments

Q Credit is gained for the first two
points made, ‘only (using) light’ for
the two specified necessities and
surviving (otherwise) ‘without light
in the cave’.

e The final point is inaccurate, as
it is the water at the top of the lake
(“surface”) which is drinkable.

Total mark awarded =
2 out of 5

How the candidate could have improved their answer

Two correct points were made within the word limit. Only 42 words were written so there was scope for further points,
for example, keeping calm, thinking of his family/children, resting on the rock out of the water. The third point could
have been made accurate with more careful reading of the material, as the idea was there about drinkable water
having been available from the lake. Had the answer been less specific even, it may well have gained the credit here.

Common mistakes candidates made in this question

A number of responses exceeded the word count (50 but up to 55 considered, i.e., a 10% margin) by using an
introduction; usually candidates simply restated the question, or explained the points made, when no marks were

available for development or speculation about the measures he took to survive.

Sometimes points did not gain credit because they lacked precision, for example, the resting place, with no mention of
the rock or pulling himself out of the water, and over the water source; ‘he drank water’ could have been from a bottle.

Some responses referred back to material required for 2bii about Gracia’s experience breathing cave air and/or why

he was the one to be left behind.
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Question 2cii

Example Candidate Response — high Examiner Comments

(ii) describe what side effects of breathing high levels of carbon dioxide he experienced. ﬂ Six points are made in fewer
than 55 words (50 words with 10%
grace). However, the maximum

(1] .,.....,H&.qh,.lm{x:\s..Uﬁ.mxbﬂn.dimdc..guut..hlm..&.h.cud.q.chtg___l%... mark available is five.
(go..enadle. AF.. ienpossible for. him. 10, Sles). exen though. be... The creditworthy points are
Mg Hred. is. tinds-sate. staried playiing Aitks. onfim | headache; impossible for him to
Andmade. bim.&ee.lights. (0. toe_lake, and made him heay | SIe8P: (even though) tired; mind

. . playing tricks; seeing lights in the
Sounds. o bubbles. b Q. diver t0egINGe. o lake, and hearing the sound of

bubbles (of a diver emerging).

Answer in about 50 words.

- 18]

Total mark awarded =
5 out of 5

How the candidate could have improved their answer

More than five points were clearly made, in fewer than the maximum number of words considered (55), so there was
nothing to improve here.
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Example Candidate Response — middle Examiner Comments

(i) describe what side effects of breathing high levels of carbon dioxide he experienced. a Gracia’s ‘hallucinations’ and
Answer in about 50 words. ‘fatigue’ are both worthy of credit
E;Teq}hmf} \’\18\1 levelS of carbon. cl\omdg here. Although the‘ candidate did
not need to say — ‘drained by
©® cdused. Graca. to. CXE\G“ ence halluci l'\OH'lOﬂ,S‘ his effort to survive and lack of

oS well as Fahaue. He was. Cll’air\egl From.__ oxygen’ — as no explanation or
e hlS CFFOH“ Yo _SUkvive. Cmd lack oF OX\[?QJ’\ further detail about fatigue was

needed. Had the word not already
Vel he. QOU\d not. !’QSJF [QCCClUSE lﬂﬂ W been mentioned, this explanation

6 Q\US\OI’\(L Hg Pw[urgd {«\’n %5 th\ Saw -Hr”ﬂgg of it would have gained credit.

that §im
F Y. [LENEL. OCLLEL, - Bl | @ ‘He could not rest’ gains credit

as not being able to sleep, as

it follows from the points about
(physical) fatigue and being
drained. Alternatively, it could
be read as meaning that it was
mental rest that was impossible,
i.e., ‘brain whirring’, given what
follows, and so should still be
credited.

e The final points are repetition
of the earlier credited point about
‘hallucinations’ (‘delusional’ and
‘saw things that simply never
occurred’). It should be noted,
however, that had ‘hallucinations’
not already been mentioned
and credited, either of these
could have received credit as an
alternative way of expressing that
concept. Further points could have
been attempted, as the response
is under 55 words long (46).

Total mark awarded =
3 outof 5

How the candidate could have improved their answer

The third attempted point, ‘could not rest’, might have been more clearly expressed as linking either to sleep
specifically, or to the high levels of brain activity. The later points, which repeated the notion of ‘hallucinations’, were
unnecessary and two further effects could have been noted within the word count, as this response did not exceed 50
words. For example, the hint of ‘saw things ..." only needed the addition of ‘light(s) (in the lake)’ to gain a further mark.
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Example Candidate Response — low Examiner Comments
(ii) describe what side effects of breathing high levels of carbon dioxide he experienced.

Answer in about 50 words. _ o Two points are made and
...D./!.t?.‘...:&f?...‘..ﬂzé.....h.-?grh....l.cm.l.é...9:?.'.'....c:.a{.b.qa..gi.s:.c.::x..i.d»z....b.cz...... credited; “hallucination” and
‘impossible for him to sleep’. The

...f.-’.2.<..r-?.e.c.i.s‘:.frz::cfd....4.:.;.c[.tz...f:@e.éi;.e..jfh.é’...gm.....ma?in..[.\,f...... response has not reached the

O  renvioned s nallucination. He. stacted Yo word limit and so had space for
hallucingte. near. the. ead duem. becmse.. T more points to be made.
the han. lacels. of . cachen. digxdes | ¥ was  Alsa...
Simposible” for him Yo <leep . due. to..dhe. lack. Total mark awarded =
O RN e 5] | 20UtOfS

How the candidate could have improved their answer

Forty-seven words were written here so in this case, the introduction or restating of the question, while unnecessary,
did not ‘discount’ later correct material, as was the case with some responses to 2ci and 2cii. However, the range of
points was lacking, given how many were available to score the five marks. The opening statement was repeated
again after ‘hallucination’, when no explanation of the points was needed to gain credit.

Common mistakes candidates made in this question

A number of responses exceeded the word count (50 but up to 55 considered) by using an introduction; candidates
usually simply restated the question, or explained the points made, when no marks were available for development or
speculation about the effects.

There was sometimes repetition and also imprecision over seeing lights and hearing bubbles/divers.
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Question 2d

Example Candidate Response — high Examiner Comments

(d) State three of the problems that delayed the rescue of Gracia. @ Three attempts and three clear
a Zﬁxe...m.cue...MA..de,l.q.tﬁeat...-?riquﬂﬂ...du.a...-.’m..pm:c...v.i.s.i.‘zi.l.i-.‘rﬁ..- p_OI_nt_S_ are made. The.se are Poor
: visibility’; ‘rescuers tried to drill

ah¢._m*cm..m..&m..mr.&;%ﬁmuj,_m..aa&:.m........... water to Gracia but failed’, and
‘one of the rescue divers, Clamor

o - - _ had to leave the site to contact the

(e,om.a...d.i.m....C,lomev.—....hacl....h..Lam.:&:ha..A.ttq....Jm...c.nnncr

to get Gracia out)’.

Total mark awarded =
3 outof3

How the candidate could have improved their answer

Three clear points were made and they were the first three attempts. The full sense of the point about drilling was
conveyed clearly here, although it would have been even better to state ‘through’ the rock, rather than ‘in a rock’.
The final point might also have stated very clearly that Clamor had found Gracia first/by that stage, although that was
implied in the term ‘one of the rescue divers’.
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Example Candidate Response — middle Examiner Comments

(d) State three of the problems that delayed the rescue of Gracia. Q Credit is gained for ‘the divers
not being able to see clearly

a underwater’ (poor visibility) and
We"f“""—'m“ﬂ"ﬁ"ﬁk‘Dﬁ!n%ﬂb\ﬁ\ﬂsﬂemhjuhdﬂr‘dwf; ‘it took a day for the silt to setﬂe”

Aoe. Al X morh. 5 nd.. et k. duek. . daay See as the idea of waiting for this is
Hhe SHEL AR SERIC e implicit.

e TOEL L Hrge . Probtems . that | delaued | Graciols  cescue. ..

However, the second attempted
point, ‘the drill didn’t work’ is not
precise enough, as it does not
convey what was being drilled,
i.e., (through) the rock.

(3]

Total mark awarded =
2outof 3

How the candidate could have improved their answer

While two points (the first and third) were clearly stated, the second lacked precision. The response needed to be
clear as to what was being drilled, i.e. ‘(through) the rock’ and then, ideally although not essentially, the purpose of this
activity, having been to attempt to supply Gracia with food and water.
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Example Candidate Response — low Examiner Comments
(d) State three of the problems that delayed the rescue of Gracia. a The first attempted point has
(1 HPNQ51707{Q’1?IP’LO5’€€@H }}Hﬂjjonfy the wrong focus; it is the visibility
J toc _ ,}_ bic I et of the rescuers which is the point
..... .1....@...*....f?f,mm....ﬁg.......hm....ﬁ........../z.. s have.died...... 2nd the link o Gracia’s ight being

(2] HE’ ..... bmd-ﬁ%pe%cw/zcdw% ..... fooe! ond. ater dead is not relevant.
which fook 4. fng...p ﬂQQﬁ?ﬁ...ﬁQ...gﬁf.,..fméﬁs./ﬁf....ﬁ?.!{lqd

too el a_hole Hizouch He. ok TH ot gight e s | @ The secon pointisaio

e G-Ph?" Q_oﬁn{-mcl—fnj e cot Feam. inaccurate. There was no
necessity (‘had to be supplied’)

and the way the response is
phrased implies that the attempt
was successful, which is not the
case.

e The final point is too vague
to gain credit because it is not
clear who is contacting the rescue
team.

Total mark awarded =
0 out of 3

How the candidate could have improved their answer

The correct focus for the visibility point was the rescuers, attempting to enter the caves. The second point needed

to make it clear that the attempt had not been successful, in which case, the reference to the attempt having been a
necessity, although incorrect, might have been tolerated, as the process and purpose had been made clear. The final
point needed to clarify that it was the divers who found Gracia, who subsequently left him again, in order to contact the
rescue team at the surface.

Common mistakes candidates made in this question

The alarm was sometimes taken to be a literal bell or similar and this point was sometimes a ‘wasted attempt’, as only
the first three were considered. There were lapses of precision over the purpose and nature of the drilling, with some
responses having implied that the intention was to extract him from the cave by this means, and why Gracia was left
again after once being found, i.e., that the rescuers had to alert the team outside.

Erroneous points included reference to the provision of the glucose pouches, Gracia’s having been too weak,
its having been dark, and speculation about their not having known where to find him, etc. There was frequent
misspelling of ‘hole’ as ‘whole’, which was tolerated as long as the meaning was otherwise clear.
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Question 2e

Example Candidate Response — high Examiner Comments

{e) Suggest why you think that Gracia’s children ‘don’t tell’ him ‘not to do it’. (line 82) 0 Either point made would be
T’@-{WWﬂHMHEiT&W%@S&M@%JE@AVa’M worthy of credit here the maximum
O besuty 96 e 45, So fuy cholk it fofol s bbby ey Bonim, | mark being one. The references

are clearly to the children not
telling him not to do it. “They know
that their father enjoys diving (and
seeing the beauty of the caves)’
and ‘they don’t want to take this
hobby away’.

Total mark awarded =
1 out of 1

How the candidate could have improved their answer

Two creditworthy answers given; maximum mark available was one.
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Example Candidate Response — middle Examiner Comments

" (e) Suggest why you think that Gracia's children ‘don’t tell him ot to do it'. (line-62) @ The point made is certainly a
Cf%‘hwﬁ‘fmwnt{zmmﬁr‘f’i«’/ﬁ"‘ﬂ'ﬂg possible reason and makes the

O 5o b be Kb wd ee M. | linktohis children, so gains credit
' The supposition is offered, that

‘Gracia must really enjoy it if he is
willing to go back’, and then the
realisation by ‘his kids’ follows.

Total mark awarded =
1 out of 1

How the candidate could have improved their answer

This response was correct, as it made reference to the children (‘his kids’) realising their father’s enjoyment, based on
his willingness to go back.
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Example Candidate Response — low Examiner Comments
{e) Suggestwhy you think that.Gracia's children ‘don't tell’ him ‘not.to doiit.. (line'62) a The response demonstrates
0 ?F“Thafm}nzéimﬁﬂdrfclhqdpfobﬁbfy@wwdhﬂ a misreading of the question. It

implies that the children DO tell
him NOT to go diving, as they are
concerned following the events
recounted in the material. This
does not answer the question and
so does not gain credit.

Qh”umnJoéttvmmdfccoﬂwrneé%hl&wmbeag”

Total mark awarded =
0 out of 1

How the candidate could have improved their answer

The double negative of the question needed to be read and understood carefully. This response answered a different
question, along the lines of why the children do tell Gracia not to go diving again.

Common mistakes candidates made in this question

The most common reasons for missing the single available mark were either missing the reference to the children
specifically or misreading the double negative and saying why they don’t want him to do it, i.e., too dangerous, they
are worried about him and similar.

There were far more blank responses than might have been expected for 2e, which might have been related to its
being alone over the page. Learners should be advised to turn the page and/or count up the mark allocations for the
questions they have attempted (total of 50).
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